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BACHELOR OF SCIENCE (B. Sc.)  

Term-End Examination 

June, 2025 

(LIFE SCIENCES) 

LSE-07 : TAXONOMY AND EVOLUTION 

Time : 2 Hours  Maximum Marks : 50 

Note : Question No. 1 is compulsory. Attempt 

any four questions from question nos. 2 

to 6. 

1. (a) Match the items given under Column A 

with those given under Column B : 

1×4=4 

Column A Column B 

(i) D. Lloyd (1) Biological 

species 

concept 
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(ii) Turrill (2) One gene one 

enzyme theory 

(iii) Ernst Mayr (3) A dictionary of 

botanical 

terms 

(iv) Beadle and 

Tatum 

(4) Alpha 

taxonomy 

(b) Define the following terms : 1×3=3 

(i) Palynology 

(ii) Carrying capacity 

(iii) Sewall-Wright effect 

(c) Fill in the blanks in the following 

statements by choosing the correct 

alternative from the words given within 

brackets : 1×3=3 

(i) Gibbons are found in .............. 

(Ethiopian/Oriental) region. 

(ii) Merychippus existed in ............... 

(Miocene/Oligocene) epoch. 

(iii) ........... (Democritus/Threophrastus) 

is known as the Father of Botany. 
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2. (a) Expand the following abbreviations : 5 

(i) ICZN 

(ii) IUBS 

(iii) IAPT 

(iv) ICNB 

(v) ICNCP 

(b) Explain briefly the importance of 

botanical garden in plant taxonomy. 5 

3. Describe embryological characters used in 

plant taxonomy. Explain the significance of 

use of embryological characters. 10 

4. (a) Differentiate between primary and 

secondary metabolites. Which one of 

them plays more important role in plant 

taxonomy ? Explain with examples. 5 

(b) Explain briefly the working of 

diversifying selection with a suitable 

example. 5 
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5. Write short notes on any two of the following : 

2×5=10 

(a) Australopithecines 

(b) Absolute dating of rocks and fossils  

(c) Role of ecological isolation in speciation 

(d) Chromatography 

6. (a) Describe the importance of Karyotype 

studies in animal systematics. 5 

(b) Describe briefly the characteristics of 

Kingdom Protista. Enumerate some 

examples of protists. 5 
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 LSE–07 

foKku Lukrd (ch- ,l-&lh-) 

l=kar ijh{kk  

twu] 2025 

(tho foKku) 

,y-,l-bZ-&07 % o£xdh vkSj fodkl 

le; % 2 ?k.Vs   vf/kdre vad % 50  

uksV % iz'u la- 1 vfuok;Z gSA iz'u la- 2 ls 6 rd fdUgha pkj 

iz'uksa ds mÙkj nhft,A 

1- (d) dkWye ^,* esa fn, x, enksa dk dkWye ^ch* esa fn, 

x, enksa ls feyku dhft, % 1×4=4 

 dkWye A       dkWye B 

(i) Mh- ykW;M (1) tSfod Lih'kht@tkfr 

ladYiuk 
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(ii) Vwjhy (2) ,d thu ,d ,Utkbe 

fl¼kUr 

(iii) vULVZ es;j (3) okuLifrd inksa dk 

'kCndks'k 

(iv) chMy ,oa VsVe (4) vYQk o£xdh 

([k) fuEufyf[kr inksa dks ifjHkkf"kr dhft, % 1×3=3 

(i) ijkxfoKku@iSfyuksykWth 

(ii) /kkj.k {kerk 

(iii) lsoky&jkbV izHkko 

(x) fuEufyf[kr dFkuksa esa fjDr LFkkuksa dks dks"Bd esa fn, 

x, 'kCnksa esa ls lgh fodYi dks pqudj Hkfj, % 

1×3=3 

(i) fxCcu 
------------------

 (bfFk;ksfi;k@vksfj,UVy) 

{ks= esa ik, tkrs gSaA 

(ii) esjhfpIil 
------------------ 

(ehvkslhu@vksfyxkslhu) 

dYi esa ik, tkrs FksA 

(iii) 
-----------------------

 (MseksfØVl@fFk;ksÝsLVl) dks 

ouLifr foKku dk tud ekuk tkrk gSA 
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2- (d) fuEufyf[kr laf{kIr ukeksa ds iw.kZ uke fyf[k, % 5 

(i) vkbZ- lh- tsM- ,u- 

(ii) vkbZ- ;w- ch- ,l- 

(iii) vkbZ- ,- ih- Vh- 

(iv) vkbZ- lh- ,u- ch- 

(v) vkbZ- lh- ,u- lh- ih- 

 ([k) ikni o£xdh esa ouLifr m|ku ds egRo dks la{ksi 

esa le>kb,A 5 

3- ikni o£xdh esa mi;ksx fd, tkus okys Hkzw.kh; 

xq.kksa@vfHky{k.kksa dk o.kZu dhft,A Hkwz.kh; vfHky{k.kksa ds 

mi;ksx dk egRo le>kb,A 10 

4- (d) izkFkfed vkSj f}rh;d mikip;tksa ds chp vUrj 

crkb,A buesa ls dkSu&lk ikni o£xdh esa vf/kd 

egRoiw.kZ Hkwfedk fuHkkrk gS \ mnkgj.k lfgr 

le>kb,A 5 

mailto:xq.kksa@vfHky%7bk.kksa
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([k) vilkjh p;u dh dk;Ziz.kkyh dks mi;qDr mnkgj.k 

ds lkFk la{ksi esa crkb,A 5 

5- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

2×5=10 

(d) vkWLVªsyksfiFkhlhu 

([k) 'kSyksa vkSj thok'eksa dk ;FkkFkZ dky&fu/kkZj.k 

(x) tkfrmn~Hkou esa ikfjfLFkfrdh; i`FkDdj.k dh Hkwfedk 

(?k) o.kZys[ku@ØksesVksxzkQh 

6- (d) tUrq oxhZdj.k foKku esa xq.klw= iz:i@dSfj;ksVkbi 

v/;;uksa ds egRo dk o.kZu dhft,A 5 

([k) txr~ izksfVLVk dh fo'ks"krkvksa@vfHky{k.kksa dk laf{kIr 

o.kZu dhft,A izksfVLV ds dqN mnkgj.kksa ds uke 

crkb,A  5 

× × × × × 

 

 

 

 

 


